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Paga 

A man hought tice from one shop:30kq 500 he bocu.hi vèce vo m ahother shop Kg E 
Totol quantity 0f Yice 30 Kg 500g t 49 Ko 75 2 

Ahouse wile_bought 
potatoes 5 Ko 8000 
toma toesFKq_500q t6hreLoe4 
Onons E Ko /50 
&Total wieight of theveg etable 

SKq 300 + r 5000g +3Ka 7h0g 14ko 141Ko 
A.LKg 

89183 
55378 
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E xercise12(G) 
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B / ess than 84 Kg 838 o 

2. 12 Ko 
7 Ko 245 t get 86 Kq 18a? 7 Ko 

73 shou ld be edded to 
418 

School bag Weight kq 5 
hote bobKsveno ved 550 The bag how we ighs Kg 2G50 
tgz5g B500IKo 209 



Sweets order ed fpr_ parby bKo 
Sweets 1eft after part y 3ka 9 

Sweets COnsumed in the party 
2 15 Ko 3K 50g 1 Kg 10 150 



{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

